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Jor the questions

- 1. (@) If f{x) =k, a constant, find the value
of A f(x). - 1

™M fl)=k @B A,  ORCE
A f(x) -4 S Fefar e |

(b) State the multiplication theorem of
probability. 1
ST “HPE I SRS e |

(c) If var (X)=5, then find the value of
var (4X + 5). 1
3 var (X) =5 =9, ©rge var (4X + 593
v T T 1
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(d) What are the parameters of the
distribution of x whose probability
"density function is given by the
following?

e e vy Tom-REE8 x-97 I50E
AmaefE § 2

o

fl) = — =

—< X <o~ U<e;0>0

(e) Is a sample mean a statistic/
parameter?

Afmf ey D efomfe Zﬂb_ﬂ'?'

(f) . Rejecting H,, when H, is false is a
—— error. (Fill in the blank)
CRIT Hy(F A ¥ W, 4 H;, 597
=, O 9t —— e i = |

(rEH *jf )

(g Is response error a type of
non-sampling error?

Tag b v Sefowas o F1 2
(h) Write the value of A" (ax™ + bx"7}).

A" (ax™ + bx" ) - T TR |

{ Continued )

(3)

(i) Write the test statistic of mean for
a small sample.

q@l b 2ARwrfa a1cea el R AR
e} RS Arenaiv el |

() What is a null hypothesis?

e aom 72
2. Evaluate E(X) for .the following
distribution :
e 360 (9 E(X) fdfa et
X : 0 1 2 3 4
Py : k 3k 02 k 2k#0-1
3. Evaluate the value of pe”
. e M
valuate [A exlz
2 x
i —-a T T A
(Ae¥)

4. Write down the mean and variance of the
following distribution :

Rrare A58 T @R 2PTRd FefT e

x 5-x
b5 9= (3) (3)
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(4) ‘
5. Define SRSWOR, 2
AR INfoeT e Fers B @I ? )
I
6. Write Simpson’s one-third rule of
numerical integration. 2
Frepieas SR e «-9oHy At
CoTET |
7. Write a note on sampling error.
2ARSHT @b Taew Gl B et |
8. Three coins are tossed. Find the
probability distribution of humber of i
heads. : 2
oo q@ Swca fiowr w11 w1 g A
Il 1% fAefy v |
9. For any two events X and Y, state the
addition theorem of probability. 2
@A @A o WA X GR YA T ASen
PTG 4T I |
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10. Prove that var(CX)=C?var (X), C is
constant.
o1 I & var [CX) = C? var (X), @ C
G{b HIT |

11. What do you mean by testing of statistical
hypothesis?
AR AT R TS D (A 2

X - .
12. If X ~ N(p,62) and z= G”, then find

E(z) and var (2).

X -
TR X ~ N(u, 02) &R z = G“,wmz)

9% var (z)-<93 T4 fAefa e |

13. Find the missing term in the following

table : ‘
fcare eieRR Fa Mo e o
x 1 2 3 4 5
u, : 7 — 13 21 37
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14, Write a note on uses of t-test.

t-~ AT IR e @3 fo O @ |

15. A bag contains 8 red and 5 white balls.

16.

17. If X
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Two successive draws of 3 balls are made
without replacement. Find the probability
that the first drawing will give 3 white
balls and the second 3 red balls.

«3f e 8f6 we e 56 A 3= wng | g
1 G 2Afm 3T T 9 G oA e A
gemar 36 M 3R fekaE 36 @ = cnew
sl fdfa e |

Find the variance of Poisson distribution.
T B¢ 2 el T |

follows Poisson distribution with
mean 1, find (i) P (X < 2), (i) P(X >2)and
(iii) Pl< X <2).

M oo X R ITCEW SO =W @GR T
1 79, @Ige (i) P(X <2), (i) P(X>2)9R
(iii) P (1 < X < 2)-9q I+ Fefq 31 |

( Continued )

(7))

18. Write important properties of normal

19.

distribution.

oIy AT AT T |

A sum is given to five students A, B, C_, D
and E. Their respective chances of s.olvmg
it are %, 5 1, + and 1. What is the
probability that at least one of the
students solves the sum? :

si5ew WA A, B, C, D @R E-CF (P

oF TS RSN T | SUT T D
e R TR T WA 4, 5 b F Ry
77 FES awwwﬁwmw’@ﬁ“‘
757

20. A continuous random variable x has the

12C—1000/10A

following probability density function :
fy=ke>, x20

Find k.

o SRz TEE e x-af Ol T
ol (e oo T e T |

f)=ke, x20
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21. Prove that in case of simple random
sam.plmg, the sample mean is an
unbiased estimate of the population
mean

AR AWoRT Ao Afeed ol TR arwr
GG TS SRE 907 257 T |

22. Discuss the advantages of sample
surveys over complete enumeration.
T AR g afoed e Ref
SICEATETT <¢HN 1 -

23. Ese trapezoidal formula and Simpson’s
g th formula to calculate the integral

[} & 2+2
O 1+ x2
ETlf‘ﬂT xR it 3 Faw gmm
——-—-lﬂﬁ - " < <
[ 7 ff

24. A coin is tossed 200 times émd 115 heads

are noted. Test the hypothesis that the
coin is unbiased.

% 200 9 oA fiewel s 1150 g0
NS CoFF | 251G APl T 4 @B oo |
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25. Suppose a population consists of the four
numbers 2, 4, 6, 8. Write all the possible
samples of size 2 drawn by (i) SRSWR,
(ii) SRSWOR.

491 7, @9 sz 40 S s qur
2, 4, 6, 8 «& WEL (F P TR
(i) *FsgM, (i) S@eEEE oforfaf sifess

<Al |
26. In an experiment on immunization, the

following results were obtained. Examine
the effect of vaccine in controlling the

disease.
Affected  Unaffected
Inoculated 12 28
Not inoculated 14 . 6

Given that critical value of x? at 5% level
of significance are

%eosll) =3-861, %2052 =5-991
e oA Rfere @G 99 o9| TR

2Rrae o3 S erer Mdre 3 -
] koo oict
B crsmt 12 28
Bt =1 e 14 6
STl S0

xg.osm =3:861’ Xg-osm =5-991
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27.

28.

29.

*30.
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If P(A=0-4, P(AUB)=0-7 and
P(B)=p, then for what choice of p
are A and B (i) mutually exclusive,
(ii) independent?

M P(A=0-4, PAUB)=0.7 <
P(B)=p @, OF& p-«% F T4 G A G
B (i) “5=4194, (i) T8 23 ?

Find f(7) from data given in the following
table :
e effr s £(7) fidfa <z

X ;0 2 4 6 8

fd : 4 12 24 40 58

State Newton’s forward and backward
interpolation formula. 2+2=4

febem werdl @) o< wmAE w1
CoTe1 |
A random'sample of 10 observations gives

the following results :

10 10
2 x; =400, Y x?=16150

i=1 i=1

( Continued )
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Test if the sample has come from a
population with mean 35 (table value of
tO-DE (8] = 2' 31 and toos (9) = 2 . 26)-

G35 ARE ARSTCa SR n = 10 IR
3 x? = 16150 =

i=1

10
i=1

oo o1 p = 35 Biffe AR e @em TR
el 2[00 CRTL | -

(ty.05-97 OFRISE T 8 df-a w1 2:31
aR 9 d.f.-9F T 226)

* Kk
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